Objectives:


Using the Key Finder aplet, the student will investigate the statistical modelling of a simple experiment.   Read the box at the end of the this information sheet for details of the experiment.





Functionality:





When the student presses  START  , they are given the choice of the three possible simulations.  Simulation 1 corresponds to the case where the man is replacing the key into his pocket after each false choice before the next choice is made.





The user must nominate how many trials to conduct (see right).





The calculator will then ‘roll a dice’ until a six occurs, displaying the value of each ‘throw’ and recording the number of throws needed to achieve success in each trial.  This is quoted as Last Run (see right).  The running average is also given, along with the final average.





The data set resulting is stored in column C1.








The second choice of  Simulation 2  corresponds to the case where the man is replacing the key into his pocket after each false choice after the next choice is made.  The reporting screen is superficially the same as that of Simulation 1  but the process involved disallows immediate repetition of data values.





The data set resulting is stored in column C2.





The third choice of  Simulation 3  corresponds to the case where the man is not replacing a false key at all.  This means that is not possible to have any repeated data values at all.  During the simulation process any repeats are discarded uncounted.  As each value is achieved the zero in the second line of the reporting table (right) is replaced by a one.  In the example shown right keys number 1, 2,4 & 5 have been drawn but success (a 6) has not yet been achieved.  Clearly the maximum run length here is six.





The data set resulting is stored in column C3.











The final two options relate to the display of results.  
